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1p 26 Which of the following reflects the author’s opinion in paragraph 8? 
A Early feminists systematically ignored the importance of motherhood. 
B Modern feminists accuse their predecessors of focusing too much on 

gender differences. 
C The claim by today’s feminists that it will take a long time to reach 

equality is unfounded. 
D The new feminist claims that men and women are biologically different 

are flawed. 
 

1p 27 Which of the following is in accordance with the contents of paragraph 9? 
A Companies should focus on distinctive personal qualities. 
B Few businesses acknowledge the importance of gender bias. 
C Gender differentiation is the key to successful entrepreneurship. 
D More female input will increase a company’s chance of economic gain. 
 
“the old-fashioned feminist approach” (alinea 10) 

1p 28 In welke alinea wordt voor het eerst genoemd hoe deze feministen tegen 
de vrouw aankeken? 
Noteer het nummer van deze alinea. 
 
 

Tekst 8  A perfect opportunity 

 
1p 29 Which of the following is in line with the contents of paragraph 1? 

A A ruthless determination to succeed and antisocial behaviour go hand 
in hand. 

B Corruption compromises the quality of the game and affects the 
support of fans. 

C Dishonest dealings in order to gain an advantage should be punished. 
D It is part of human nature to be willing to forego moral principles or 

beliefs to achieve a goal. 
 

1p 30 Which of the following fits the gap in paragraph 2? 
A By contrast 
B In a nutshell 
C Indeed 
D To be fair 
E To make matters worse 
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Paragraph 3 consists of two parts. 
1p 31 With which sentence does the second part of the paragraph start? 

The sentence that starts with 
A “All that’s” 
B “It moves” 
C “The FA”  
 

1p 32 Which of the following fits the gap in paragraph 3? 
A less a sport appears to be regulated 
B less popular the team selection for a match is 
C more a club ignores its players’ fouls 
D more high-profile a Premier League fixture is 
 

1p 33 Which of the following statements is in accordance with paragraphs 
4 and 5? 
A A lot of sport branches are paralysed when it comes to dealing with 

match-fixing. 
B The FA integrity unit is to be replaced by a cross-sport regulating 

organisation. 
C The FA is apparently failing to face up to the undeniable reality of 

match-fixing. 
D The liaison between the football world and TV advertising should be 

closely monitored. 
 
“The Football League is even sponsored by a gambling organisation.” 
(alinea 5) 

1p 34 Wat benadrukt het woord “even”? 
Citeer de eerste twee woorden van de zin waar het antwoord te vinden is. 
 
 

Tekst 9  Return to the Field 

 
3p 35 Geef van elke van de volgende beweringen over Rosie aan of deze wel of 

niet in overeenstemming is met de tekst. 
1 Marilyn violates the strict codes of conduct when saying goodbye to 

Rosie. 
2 Marilyn’s appearance makes Rosie feel unattractive.  
3 Her undercover role makes Rosie feel incompetent.  
4 Rosie is inspired to aid the French because of her background. 
5 Marilyn has suggested that Rosie take a double amount of cyanide on 

her mission. 
6 Rosie has been interrogated by the Germans as well as the British. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
 
 


